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1T ER B&E 39 35 14 0.0 74.0
1T|K&E %A 38 36 14 0.0 74.0
3T Ik EE 38 37 15 0.0 75.0
3T|EXR =R 37 38 15 0.0 75.0
5T|&FE hatn 39 37 16 0.0 76.0
5T EAH HRIF 37 39 16 0.0 76.0
1T &% BE 40 37 11 0.0 11.0
1T RAN FE 38 39 11 0.0 11.0
1T KE 2% 37 40 11 0.0 11.0
10T |XE =RE 41 37 18 0.0 18.0
10T |BH ER 38 40 18 0.0 78.0
10T Kig [ 38 40 18 0.0 78.0
13T A ‘A 41 38 19 0.0 79.0
13T M TE 38 41 19 0.0 79.0
15T | HH *Xh 39 41 80 0.0 80.0
15T ILE S% 39 41 80 0.0 80.0
17T RA e 42 39 81 0.0 81.0
17T &% & 40 41 81 0.0 81.0
17T |HO Fi 39 42 81 0.0 81.0
17T T % 39 42 81 0.0 81.0
21488 &a 40 42 82 0.0 82.0
27 X H*E 42 41 83 0.0 83.0
22T & RI& 41 42 83 0.0 83.0
24T K& FE 45 39 84 0.0 84.0
24T |/ & 42 42 84 0.0 84.0
24T \#0O & 39 45 84 0.0 84.0 TEE A
21T $5B HRZ 45 41 86 0.0 86.0
21T |EH =F8 42 44 86 0.0 86.0
27T HME #HH= 41 45 86 0.0 86.0
21T LA KRR 41 45 86 0.0 86.0
21T EH FERER 41 45 86 0.0 86.0
2T |EE Tk 47 40 87 0.0 87.0
2T |RE BE 43 44 87 0.0 87.0
32T B&E IEA 39 48 87 0.0 87.0
35 RE B— 47 41 88 0.0 88.0
36 &FH 45 44 89 0.0 89.0
37T £H 47 43 90 0.0 90.0
JIT | HE & 44 46 90 0.0 90.0
39EMA —X 46 45 91 0.0 91.0
07T BFRA F= 47 45 92 0.0 92.0
T HERAKR BEX 46 46 92 0.0 92.0
407 kH#H BEX 46 46 92 0.0 92.0
0T kKB BHXEH 44 48 92 0.0 92.0
4\#E IEE 46 47 93 0.0 93.0
L B 45 49 94 0.0 94.0
46| FA X 50 56 106 0.0/ 106.0
P-1 7A/ILTa—2R




